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(@) gETHZT @ (b) FHHIET & (0 G
48. ‘Flg IEed’ (International Court o

(a) =gaTe (b)

(c) & &
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(a) HE™1E 3H9S EHG S

(c) T=IrET FTE HER W [EE
50. ‘Hivt % (Mein Kampf) ar e ?

Faifea (o) fazet (d) 379 & #rg 78
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831 59 IS Ay &1 weaw 9ftord fEaT 5= @& g ?

(a) 40 (b) 13 (c) 3 (d) 16"
54. 99 3 §HT H TGS B1al e—

(a) sIz= (b) @mam (c) @ (d) T
55. HYUT T BT W & T — RS 3

(a) 1 M 1FafE () 1a93x9  (d) 3798 & &g 74
56. 57 ¥ o= diee fawgg &1 SugeT far sar 27 -

(a) 80v (b) 440v (c) 200v (d) 220v
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1 a5 Z 9 99 & T gl Eni—

(a) 225 Hr=x (b) 300 (c) 500  (d) 9% & H &
58. @ivfrg T avat ar E—

(a) @& & amgel & (b) SaT & T &

(o) sHdF A & (d) 9 § B3 T8
39. = FST (Latent heat) F1 SI 7=/ &var 8—
(@) 9@ | fEme  (b) S [ WMo (¢) Ferd (d) 378 & &% T8
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(a) TEE fyer ot @G & |

(b) sHa Rafesr gaf e &1

(c) swer faferr @ 7t 21

(d) wEay TR g RS 391 SFT aedt #1

adur (Mirror) & fou P 8 & &9 wdr £ 7

@ r=f ) r=2f © 3r=f (@ f=3r

@THE (Rutherford) ® T frgia defer 23—

@ a-dTF (b) B-FTEHE (o) y-d & (d) 378 § afr

. P (Switch) aef AT ST ¥ ?

(@) s2axc®d (b)) WaRA () T H (d) 3% & @i &
. e g @ fow g @991 (Mirror) &1 5@ fear e & 2
 (a) J@ (b) STET® (c) §ua® (d) 99 & #rf 7
. 100 Q, 60 Q Tar 40 1 T dfery a1 &vm, afk Faem Sy 8 ?
(a) 40Q (b) 140Q () 1440Q  (d) T & &1 &
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67.
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, (a) 3 x 10°Hif#ro (b) 3 x 10" Hi/Fo
(©) 4x10°HY/Fo (d) 57 & & &
o e Hie (Half life) ST €@r 82—

(@) 049 x a7 Rercw e
© %% (d) &9 & ¢
. 1 KWH = gt 82—
(a) 36 x 10°9® & (b) 36 x
(© 56x10°5® & (@
arEte Fadis G —

(a) 7% & s=mm W
(b) gt ¥ ag & gt W Ffe
(c) aEgsii & g 4 &
(d) == &t ffey a7
afe a9 agrn g,
(a) =72

CH, .

n

(a)

(c) =¥ e & (d) 9= &1 =ia &

(c) uewtss &1 (d) 399 F & 78
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72. ST Ud A1 O1 & aada-dis (Refractive Index)

() 13 &7 () 17 st (o) 23 ( ¥ & &g T
73. &5 3HE —

(a) amgfa & (b) B & (c) T
74. Fr=ifofad & & &= =@fzer (Vector)

(a) 9@ (b) =i (d) smge=
75. Hult @&l AEE (Unit) &1 %2,

(a) are (b) jger d) S (d) e

D. ISH

Wﬂg passage and answer the questions very

of education among women make the
n education difficult, it appears also to be a major
r family planning. It is significant that one of the
ily planning efforts has been in Korea, where literacy is

sults than, for example, Afghanistan, Pakistan, Bangladesh,
nesia, where a large proportion of the female population is
The education level of women is significant also because it has a
pact on their chances of employment; and the number of employed
men a country’s total labour force has a direct bearing on both the gross
tional product and the disposable income of the individual family.

76. Koreahasbeen successful in family planning because the Korean women
are :—

(b) well-educated
(c) literate enough to understand its significance

(a) well-employed

(d) exposed to nutrition education

77. The countries where family planning programmes has been satisfactory
are : ' T

(a) Thailand, Singapore, Korea, Hong Kong and India
(b) Thailand, Afghanistan, Korea and Pakistan
(c) Korea and Indonesia
(d) Taiwan, Hong Kong, Korea, Thailand and Singapore :
78. According to this passage, a woman’s lack of education has a direct
bearing on
(a) the GNP of the country
(c) the total labour force of the country
(d) her knowledge of nutritional value of food

(b) her chances of getting a job
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79. One of the main disadvantages of the lack of education among women 98 Emin ; i, (o) [Exmmons ShL
is that they (a) ordinary (b) inferior v i
i i - Pick the correct Ant ¢ ach of the
(a) cannot be persuaded to plan their families " m?r:tmu;‘:;‘s .(99—100) ick up
(b) do not know how to cook nutrious food ):: I nﬂixible
D (c) dicrnno:l earn more money (d) cannot communicate well i @ ®) fixed , alding
o as directed : g firm
: y 100. Diffused .
80? PeOP,IE C.a-ued Gandhi, Bapu. fchgnge into Passive) (a) dispersed (b) - d) concentratled

81. He said, “God rules and governs all things”.

(Change into Indirect Speech)
82. Sheis ...... untidy girl. (Insert Article) A. TR '
83. This picture (a) / is the best (b) / of the two. (¢) / No error (d) 1. (c) 4. (C)) lg' Eg)
' _ (Find out the error part of the given sentence) 6. (a) 5 ' () ]3' E:) 15. (b)
84. Afree pressisnota privilege (a) / but the organic necessity (b) / in a free g Ecg 8. (a) 19. (d) 20. (c)
sqcie_ty. (c) / No error (d) (Find out the error part of the given sentence) 21: (:) 23. (a) 24. (b) 25. (d)
85. Pick up the mis spelt word :
(a_) writing (b) lightening (¢) leutenant (d) Ii.ghte'.n ] 28. (0) 29. (b) 30. (a)
86. Gulf (Give plural form) 33. (a) 34. (c) 35. (d)
87. Great aunt (Give masculine word) 38. (d) 39. (b) 40. (a)
88. Give past participle form of verb — Bleed 43. (b) e gg Ea;
89. The Queen Elizabeth is a famous British liner. 48. (c) 4. @ ok
(Pick out noun and State i
90. The intelligent and educated group or class of a society or 51. (b) 52. (a) 53. (b) 54. (b) 55. (c)
t . | ( 56. (d) 57. (E‘l) (8. (a) 59. (a) gg' ?:l))
91. Wolves : howl : : Crickets : ...... (Fill in the blank uggh su 61. (b) 62. (a) g o i o 70' (c)
EE L ] : _ . 66. (a) 67. (b) 68. (a) 69. () I e
Direction (92-96) : Fill in the blank with suitable words givend the 71. (a) 72. (b) 73. (a) 74. (a) 75. (c)
92, f‘.l)rnfa has been wzz;t;nf, here for her(t'.;acher ...... threefvee D. ENGLISH
a) for rom ¢) since n :
lanation 3H |
93. Veena is married ......... Mr. Thakur. :?6 l.\i::)) =0 3 8973;_[ ?:l(;) Fi 78. (a) 79. (<) 82. an
(a) with (b) at \ to 83. (b) 84. (b) 85. (c) 86. Gulfs
94. Ata party he is always ......... : 87. Greatuncle 88. Bled  90. mte]hgents‘;; ©
(a) in high spirits 91. chirp 92. (a) g =5a) by
7 oMl L : 96. (a) 97. (d) 98. (c) 99. (d) 100. (d)
(c) in ajiffy
95. Thefi::.... government at the long.
(a) collusion (b) collisio (d) coloration
96. Wine is madeina........ BN () sinix+ cos'x= n
(a) brewery (b) factory (d) wardrobe e 2

]
; Rt A Va4 b B R
2 Pi t synonyms for each of the following 2 (d) - acos@=bsinfa s LR

Kadmies i, 3 cosd - 4sin@ FT ST T = V9+16=5
97 Fragllc 3. (b) tan(765°)=tan (2 x 360° + 46°) =tan 45° =1
(a) durab

(c) tough (d) breakable
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